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# Overloads $#373% 3+ B GetMax p T2 2 = =T 5| CHeiest F B/ > % - 1B
GetMax p = B int#iciE® F < 5, % - B GetMax 2~ double #icie "L 7|~ % P ik Eo
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namespace Overloads
{ public partial class Forml : Form

(EVZE

{ public Form1()
{ InitializeComponent();}

(- )& 3+ - B GetMax

[15 ~ ]
private void Forml_Load(object sender, EventArgs e)
{inta, b, c;
a=27; b=15; c=23;
double[] ary = new double[] {15.7, 30.8, 14.6, 40, 2.8, 88.8};
MessageBox.Show(a.ToString() + "F1" + b.ToString() + "#1" + ¢.ToString() +" &z AXHVEL
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MessageBox.Show (&5 712£(15.7, 30.8, 14.6, 40, 2.8, 88.8} s RMEE £ = " +
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interface b F @ Foac B & Exam FFHRIPN F 2wk T o deie i E F U R AROE IR F X D)AR (=) FHEFR A MEFTHREE T2 & mM > 477 & 38 2 % (transaction) & £ &
FRokEgienp g [25 4 ) ACID z_ 1> K,f 7 Atomicity (8 ~42) &2 Consistency (- {2) 2 ¢ » 5] )

interface P1 {

¥a3E? [44]
int target = 66;

void ShOW()} (: ) = - F&g B 4 EE ’ ;Z # 3 ﬁ}’\i(Prlmary Key)’}’f}E 2 }%'E’_ = EE" g if—i “NOT NULL”
interface P2 { #”UNIQUE” » 2% B® %4 i+ 8 2% 25 “NOT NULL”¥2 "UNIQUE”2_ * 3, & A %] 4
int target = 88; P2 [64])
void show();}
interface C EXtendS P1 P2{ ( =t ) B Fﬁg 93141\ (o B Fl" r' S PRODUCT ~ AGENT - —,— ﬁ’ﬁ;ﬂ (sl S ‘;‘JI S PRO_NO >
void show(String s); } AGT_No » H &enff i~ 28 T340 [£ 4-1] [ £ 4-2] #77)] -
: : PRODUCT AGENT
public class Exam implements C {
public void show() { PRO No| PRO NM | PRO PR | AGT No AGT No | AGT AR | AGT QA
show(™):} _ P101 | Potato 20 A008 A001 TW 1000
public void show(String s) {
P102 | Corn 23 A001 A006 USA 1200
System.out.printn(s + " target : " + target); } ]
P103 | Onion 12 A033 A008 TW 1150
ublic static void main(String[] argv
P ¢ (String[] argv) { P108 | Tomato 16 | A033 AOL2 | TW 1300
Exam s = new Exam();
s.show();} P111 | Carrot 22 A006 A033 USA 800
} :
P112 | Pumpkin 20 A006 (5 4.2]
P118 | Chili 26 A008
[#%4-1]

FiETIZHSQL A &R NARS A EHWERD)-Q) AR E
(1) SELECT * FROM PRODUCT WHERE PRO_PR>20;  [5 4]
(2) SELECT AGT_AR, COUNT(*), AVG(AGT_QA)
FROM AGENT GROUP BY AGT_AR; [5 4 )
(3) SELECT PPRO_No, PPRO_NM, AAGT_AR, A AGT QA
FROM PRODUCT P NATURAL JOIN AGENT A; [5 4 )



